12/5/2018 3.5 Classwork-Joe Betters

Instructor: Joe Betters
Course: Pre-Calculus Pre AP {(Master  Assignment: 3.5 Classwork
Course)

Student:
Date:

1. Solve the following inequality.

2%% <Bx +25

Select the correct choice below and, if necessary, fill in the answer box,

QO A. The solution set is

(Type your answer in interval notation, Use integers or fractions for any numbers in the
expression.)

{0 B. There is no real solution.

ID: 3.5.15

2. Solve the following inequality.

15(x*> -1} > 16x

Select the correct choice below and, if necessary, fill in the answer box.

QO A. The solution set is

(Type your answer in interval notation. Use integers or fractions for any numbers in the
expression.)

(O B. There is no real solution.

ID: 3.5.21

3. A ball is thrown vertically upward with an initial velocity of 64 feet per second. The distance

s (in feet} of the ball from the ground after t seconds is s =64t - 16t°. .
(a) At what time t will the ball strike the ground? I
(b) For what time t is the ball more than 48 feet above the ground? s=64t—16t>

(@) The ball will strike the ground when t is seconds.

{b) The ball is more than 48 feet above the ground for the time t when <t<
{Simplify your answer.)

ID: 3.5.33
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4. Suppose that the manufacturer of a gas clothes dryer has found that when the unit price is p dollars, the revenue R (in
dollars) is R(p) = — 2p? +4,000p.

{a) Atwhat prices p is revenue zero?
{b) For what range of prices will revenue exceed $400,06007

(a) Atwhat prices p is revenue zero?

The revenue equals zero when pis $

(Use a comma to separate answers, but do not use commas in any individual numbers.)
(b) For what range of prices will revenue exceed $400,0007

(Type your answer in interval notation, Round to the nearest cent as needed.)

ID: 3.5.35
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5

1. A. The solution set is [- E'SJ

(Type your answer in interval notation. Use integers or fractions for any numbers in the expression.)

3 5

2. A. The solution set is [- oo, — E] U {E,ooJ .

(Type your answer in interval notation. Use integers or fractions for any numbers in the expression.)

3.4

4. 0,2000
(105.57,1894.43)

hitps://xlitemprod.pearsoncmg.com/api/v 1/print/math 313



L) S A\esYoot ¥a

O 9L 9525
ARe-H%-2H 4L O

(9&"‘ 55<K“‘ 5\ Lo Wﬁ/\)
Cou s\ poNevs™S X:_% *=95

() (=) A ("‘ % / CDS
. \ \ ~7

<& \ \

- 6/9 5

\% Cvkg-\\ >V6x

\orP- ok —\D > O
(oxx 3\or-5) >0 &=

. | _.? =9
Col o Qo\c\—\-% K= = K 2

(2— \C——S \G\_\B
fé/s* 5\/’5 | @




7,5 CNGEHOOTNE Cordil me S

@ c - ‘-\Lot'}-\- CH 5= QisNepa o KA,
T~A\la\ VQ—\OC.\‘;\-j (OL'\’C+/5QC

O =-\LEr it
o= -\bt Qt"’q\
E'—‘—O J t:“\\ N secondS

49 = -1t v LY
‘(Dt}_%l—\t"\'q% =O
+2-at 4> =0

(£ - 2Mt—\ )=0

F\/ﬂm

e bedosees
\ coud 5 seconsS
M. o)\ fs cloove
4 - ON\DO\JQ«A“\’{
%C‘O\)(\b




1.9 CANSSWor V. Can\ mu-czkb
®) L= -}QDJ‘-HOOOQ

O = -2p>+ HOCOE
= =2 (Q ~ 2000)

& 3 o
Q::.O , 0= 2O00O )\ Tevenue. S Zeso
L oy O e § Fooo

Hoo,000 = "?\Qg'\' L—kooo\b
99’9- 4O00Q LrHoooceo =z O
0 a—aoooe x Qooooo = O

_-(- aooo\ m‘\ (\\(900000\ |

2.0

5,\ 06,5
V394, L\”b




